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25 |HiER
24 [#EA/NEERT GLILFEREN)
23 | R FEHI
22 |IEE£AKIEHI
21 |Fa &R oh AT I
20 | EEkAEERAT 5 2 61 4
19 [ERETER 1 25 22
18 |\ 5L (KA FET D) 1 24
17 [FEGEERD 22
16 | b RERE 3 8 HBRF KT 71
15 [ & EME BRI 1 32
14 [FF1X 33
13 |[EEIASESEEREa | [ |
12 [FER&EERT 10 5 2 32 27
11 [EEp LAl
10 [IUFA
9 |HAREERT 1
8 |HEn
7 5BE 1 4 5
T~ FEEK 4 11 28 2 45
6 [MEEMERAT 8 16 8 2 34
5 |BEE
4 |BETH 10 14 11 4 39
FEEATE 11 3 26 5 45
2 | B /INERET 1 1
1 [EEREl#] H 3H GH 11H 22H 1H 43
INEE 78 79 87 106 72 132 105 114 19 19 361 450
B [ 21 | 21 349 349 200 200 179 179 127 127] 51 | 51 927 927
& TIURER X A% XM OAZ XM AR XM OAZ O XR A% X A% XR ARGt
1 1 1 1 1 1 1
2 2 20 2 3[ 2 2l 2 2 2 25
3 1l 3 1] 3 4 3 4 3 3 3 20
FERERATIT 4 4 4 4 2l 4 4 2l 4 4
5 5 4 5 2| 5 5 5 5 6
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 3[ 2 5[ 2 1 2 9
3 3 3 i 3 3[ 3 13 3 1K 18
FEREITE 4 4 4 1 2] 4 4 4 4 7
5 5 5 5 5 5 5
6 6 6 2] 6 3[ 6 6] 6 6 11
7 7 7 7 7 7

T ORI mEmP 1 —ERELURT. 2= 1

B ~2 (RE/MNOE. 3=2(1RB/N ~3(Z)DE.4=3(2) ~4(FZ)DE. 5=4 (F=) ~

5(8) DFE. 6=5 (&) ~6 (E{F) DR, 7=6 (B{E) ~7 (i5L) DR



SN RENRREIL—NRERER TE12H

1{%(6:25) 3{8(7:05) 5{%(10:30) 7{E(12:10) 9{%(15:30)

1148(17:30)

% F 3 3 F % F % F %
1 zr.ﬁ'-"[%]
2 [WB/DNERRET 17 1 1 18 1
KN EITES 85 6 1 1 93
4 |BETH 9 22 9 1 1 42
5 |BEE
6 [MEEMERAT 4 3 4 1 11 23
T R 40 8 5 1 3 57
1 |imE 5 4 2 1 12
8 [H#ED 1 1
9 | REERI 1 2 3
10 [ILFE 2 1
11 | EEFp It Al
12 [FERBEER 24 33
13 |FEEJIASB OBEEXIERT 1 5
14 1FEF1RX 22 2
15 [{F HEYME B A 3 2
18 |/\IE#5 4L (KA FETO) 15
19 [BRHRETER 19 23
20 | Bk A IEERAT 163
21 | &R R AR AT
22 [{E&ARIERI 7 6
23 | P RITFEFHI 3 2 2 2 5 4
24 [# AN LU 1 1 1 2 1
25 [FiEE 1 1 1 1 6 1 9
26 | YU TSHHI 27 2 80 115
57 [EUEERR () 0 59
N € 1]
28 | 35 5 (4] 16 |
/Nat | | | 243] 243] 127] 98| 87 37 15| 12| 50| 50| 522 440

ERFL 2{#(6:45) 4{H(7:44) 6{#(11:15) 81 (12:50) 10{E(16:15) 12{E(18:15) INEE

F [ F [ F % F % F % F & B3 &
D01 €| |
57 |BRERAT[ ) ] [
#ZERAT %) 84
26 | TS5HHI 1
25 |HiER
24 [#EA/NEERT GLILFEREN)
23 | R FEHI
22 |IEE£AKIEHI
21 |Fa &R oh AT ]
20 | EEkAEERAT 1 1 58 5
19 [ERETER 25 28
18 |\ 5L (KA FET D) 21
17 [FEGEERD 11 3
16 | b RERE 3 8 HBRF KT 38
15 [ & EME BRI 2 12
14 [FF1X 31
13 |[EEIASESEEREa | [ | 2
12 [FER&EERT 9 6 1 1 2 42 18
11 [EEp LAl
10 [IUFA 1 1 3
9 |HAREERT 1 1 9
8 |HEn 5 5
7 5BE 2 3 7
T~ FEEK 6 19 3 34
6 [MEEMERAT 16 11 43
5 |BEE
4 |BETH 3 12 13 28
FEEATE 10 9 21 40
2 | B /INERET 2 3 5
1 |ERelE] H H H H H 18 H 1H 52
INET 50 50 87 116 81 131 108 111 9 9 335 417
B [ [ 203 293 214] 214 168 168] 123 123] 59 | 50| 857 857
& TIURER X A% XM OAZ XM AR XM OAZ O XR A% X A% XR ARGt
1 1 1 1 1 1 1
2 2 21 2 2] 2 2 2 1| 2 24
3 3 16] 3 3] 3 3] 3 il 3 3 23
FERERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 3] 6 3] 6 2] 6 6 2 6 10
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 5[ 2 2 5
3 3 3 i 3 3[ 3 8] 3 3 12
FEREITE 4 4 4 4 1 6] 4 3] 4 10
5 5 5 5 5 5 5
6 6 6 5] 6 2 6 6 6 7
7 7 7 7 7

T ORI mEB 1 —ERELUAT. 2= 1 (FhE) ~2( t/As/J\)a)Faﬁ 3= 2(@/]\)~3($>0)F§ 4=3(2)~4(F=2)DME.56=4 (F=) ~
5 (#1) DS, 6="5 () ~6 (BE) O, 7=6 (BF) ~7 (& L) DR



SN RENRREIL—NRERER 251 A

No. EmF 1{%(6:25) 3{8(7:05) 5{%(10:30) 7{E(12:10) 9{%(15:30)

1148(17:30)

F % F 3 3 F % F % F %
1 |EEREl&]
2 [WB/DNERRET 38 1 39
KN EITES 75 3 4 82
4 |BETH 10 14 8 1 33
5 |BHEE 1 1
6 [MEEMERAT 7 3 3 1 4 17 1
T R 41 6 3 1 3 54
1 |imE 2 2 4
8 [H#ED 1 1
9 |H/AREER 2 2
10 [ILFE 2 2
11 | EEFp It Al
12 [FERBEER 6 10 6 2 4 1 9 25 13
13 |FEEJIASB OBEEXIERT 4 4
14 1FEF1RX 1 1 21 1
15 [{F HEYME B A 1 1 3 1 1 6 1
18 [J\iEHE AL (KIEFBTO) 1 10 1 12
19 [BRHRETER 18 24
20 | Bk A IEERAT 1 171
21 | &R R AR AT
22 [{E&ARIERI 9 8
23 | P RITFEFHI 1 1 2 4 2 6
24 [# AN LU 1 2 2 2 3
25 |HEE 2
26 | YU TSHHI 20 73 99
57 [EUEERR () 13 49
I RERAT[ 5] ]
28 [ s¢mikeanla) 26 |
/Nat | | | 252] 252] 97| 76| 8] 38] 17] 1] 32| 32| 483 409

2{8(6:45) 418(7:44) 6{E(11:15) 818(12:50) 10/E(16:15) 12/%(18:15) INEE

=84 142 142 122 142 142 12 122
® g B3 g % 3 % g % [ % 53 B3 53
|

D01 €|
57 |BRERAT[ ) [
BZERAT[5)
26 | FS5HEI
25 |HiER
24 [#EA/NEERT GLILFEREN)
23 |h R EHI
22 |IEE£AKIEHI
21 |Fa &R oh AT I
20 | EEkAEERAT 1 26
19 [ERETER 18 22
18 |\ 5L (KA FET D) 1 24
17 [FEGEERD 26
16 |dLEERL S N BRSSP AHT 49
15 [ & EME BRI 8 21
14 [FF1X 2 30
13 |[EEIASESEEREa | [ | 1 3
12 [FER&EERT 2 2 5 1 20 14
11 [EEp LAl
10 [IUFA 2
9 |HAREERT 1
8 |HEn
7 5BE 3 4 3
T~ FEEK 8 16 2 30
6 [MEEMERAT 15 8 36
5 |BEE
4 |BETH 3 12 7 1 23
FEEATE 10 4 11 2 27
2 | B /INERET 1 3 4
1 |ERelE] H H H H H 11H H 41
INET 55 55 78 99 64 111 79 85 6 6 282 356
B [ [ 307 307] 175] 175 149 149] 96 | 96 | 38 | 38| 765] 765
& TIURER X A% XM OAZ XM AR XM OAZ O XR A% X A% XR ARGt
1 1 1 1 1 1 1
2 2 14 2 2] 2 2 2 3| 2 19
3 3 19] 3 4 3 2] 3 3 3 25
FERERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 8 6 6 il 6 il 6 6 10
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2] 2 2 2
3 3 3 i 3 3[ 3 71 3 1K 12
FEREITE 4 4 4 4 1 71 4 1] 4 9
5 5 5 5 5 5 5
6 6 6 3[ 6 4 6 6 6 7
7 7 7 7 7

T ORI mEB 1 —ERELUAT. 2= 1 (FhE) ~2( t/As/J\)a)Faﬁ 3= 2(@/]\)~3($>0)F§ 4=3(2)~4(F=2)DME.56=4 (F=) ~
5 (#1) DS, 6="5 () ~6 (BE) O, 7=6 (BF) ~7 (& L) DR



SMIARTRN\R[MEIL—RRKEAER

No. P P 1{%(6:25) 3{8(7:05)

5{%(10:30)

7{E(12:10) 9{%(15:30) 11{%(17:30)

2{%#(6:45) 4{%(7:44) 6{E(11:15)

F % F 3 F 3 F % F % F %
1 |BeRe[$) 1
2 [WB/DNERRET 42 1 1 44
KN EITES 86 10 3 1 1 101
4 |BETH 10 14 10 1 2 37
5 |BHEE 1 1
6 [MEEMERAT 9 4 3 6 22
T R 18 1 19
1 |imE 2 2 1 5
8 |HEA
9 |H/AREER 3 3 6
10 [ILFE 1 1
11 | EEFp It Al
12 [FERBEER 7 4 1 1 7 12 8
13 [(FHJIASE DR EBXIERT 4 1 5
14 1FEF1RX 13
15 [{F HEYME B A 3 1 1 11 1
18 [J\iEHE AL (KIEFBTO) 9 1 1 10 1
19 [BRHRETER 16 22
20 | Bk A IEERAT 1 174
21 | &R R AR AT
22 [{E&ARIERI 1 3 5 9
23 | P RITFEFHI 1 2 1 7
24 [# AN LU 1
25 |HEE 6
26 | YU TSHHI 64 8
o7 |RUEERAT[ ] 7
FURERAT[ 5]
28 [ s¢mikeanla) 33 |
/Nat | | 22| 22| 8] 60| 65| 30 14| 1| 30| 29] 457[ 392

8{#(12:50) 10{%(16:15) 12{%(18:15) /N

=¥8Fh4 23 12 12 12 122, z3
E: 3 (63 x i3 E: 3 i3 E: 3 P E: 3 f E: 3 (53 E3 [
D01 €| |
o7 |RUZERAT [
BZERAT[5)
26 | FS5HEI
25 |HiER
24 [#EA/NEERT GLILFEREN)
23 | R FEHI
22 |IEE£AKIEHI
21 |Fa &R oh AT I
20 | EEkAEERAT 1 1 50 3
19 [ERETER 17 30
18 |\ 5L (KA FET D) 23
17 [FEGEERD 24
16 | b RERE 3 8 HBRF KT 50
15 [ & EME BRI 1 20
14 [FF1X 18
13 |[EEIASESEEREa | [ |
12 [FER&EERT 1 3 5 1 10 11
11 [EEp LAl
10 [IUFA 2 2
9 |HAREERT 2
8 |HEn 4 4
7 5BE 5 1 3
T~ FEEK 5 1 10
6 [MEEMERAT 6 13 1 30
5 |BHEE 1 1 2
4 |BETH 2 8 13 3 26
FEEATE 13 9 32 4 58
2 | B /INERET 5 5
M6 H H H H H H 1H 41
INET 58 58 80 106 70 105 84 87 15 16 307 372
B [ [ 320 320] 166] 166 135] 135] 98 | 98 | 45 | 45| 764 764
& TIURER X A% XM OAZ XM AR XM OAZ O XR A% X A% XR ARGt
1 1 1 1 1 1 1
2 2 8l 2 2 2 2 2 8
3 3 6] 3 3 il 3 3 3 7
FERERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 4 6 6 6 6 6 4
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 3[ 2 2 3
3 3 3 K 3 3 1K 3
FEREITE 4 4 4 4 4 2] 4 4 2
5 5 5 5 5 5 5
6 6 6 i 6 6 6 6 1
7 7 7 1 7 7 7 1

— ORBOREMN 1 —RRELYR. 2=1 (BE) ~2(RR/MN DR, 3=2(
5 (51) O, 6=5 (#]) ~6 (EE) DRI, 7=6 (EME) ~7 (Z L) DR

%‘ll\)~3($)0)ﬁ§ 4=3(%)~4(F2) DM, 5=4(F=2) ~



SN RENRREIL—NRERER 253 A

No. EmF 1{%(6:25) 3{8(7:05) 5{%(10:30) 7{E(12:10) 9{%(15:30)

1148(17:30)

F % F 3 3 F % F % F %
1 |BeRe[$) 3 2
2 [WB/DNERRET 8 4 1 1 1 15
KN EITES 26 6 6 1 2 41
4 |BETH 3 12 8 2 25
5 |BHEE 1 1
6 [MEEMERAT 5 6 1 2 2 16
T~ RER
7 5BE 3 3 3 2 11
8 |HEA
9 [HAREER
10 [ILFE 12
11 | EEFp It Al 6
12 [FERBEER 1 11 2 1 2 13 3 18 15
13 |FEEJIASB OBEEXIERT 3
14 1FEF1RX 1 14
15 [{F HEYME B A 9 1 1 1 11 1
18 [J\iEHE AL (KIEFBTO) 4 12 2 2 1 15 6
19 [BRHRETER 10 27
20 | E S AEERRAT 6
21 | &R R AR AT 6
22 [{E&ARIERI 2 6
23 | P RITFEFHI 1 5
24 [# AN LU 1 2 2
25 |HEE 4
26 | YU TSHHI 30 100
57 [EUEERR ()
e N €9

28 [ s¢mikeanla) 13 |

/Nat | 17| 7] 81] 81| 8] 71| 52 31 18] 15| 27| 27| 275]

2{8(6:45) 418(7:44) 6{E(11:15) 818(12:50) 10/E(16:15) 12/%(18:15) INEE

=84 = i — — — — —
% x i3 3 i3 3 i3 3 [ 3 (53 3
D301 € |
57 |RUZERAT[]
FURERAT[ 5]
26 | TS5HHI
25 |HiER
24 [#EA/NEERT GLILFEREN)
23 |h R EHI
22 [{E&ARIEHI
21 |Fa &R oh AT ]
20 | EEkAEERAT 20
19 |B#ETEH 13 21
18 |\ 5L (KA FET D) 29
17 [FEGEERD 8
16 |dLEERL S N BRSSP AHT 24
15 | EEMEFHI 35
14 [FF1X 19
13 |[EEIASESEEREa | [ | 1 1
12 [FER&EERT 2 6 2 1 1 10 19
11 [EEp LAl
10 [ILFO 14 14
9 [HAREERT 1 3
8 |HEn
7 5BE 3 3 1 9
T RER
6 [MEEMERAT 11 17 2 48
5 |BHEE 1
4 |BETH 2 9 8 1 20
FEEATE 15 3 7 3 28
2 | B /INERET 2 1 1 1 5
W) H 2H 4H 22H GH 1H 3
INET 31 31 116 125 78 99 58 61 24 24 307 340
B [ 17 ] 171 112 112] 196 196 130 130 76| 76| 51 51 582 582
& TFIURERH X A% XM OAZ XM AR XM OAZ O XR A% X A% XR ARGt
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
FERERATIT 4 4 4 4 4 4 4
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 2 2 2
3 3 3 3 3 3 3
BEREITE 4 4 4 4 1 2 2
5 5 5 5 5 5 5
6 6 6 6 6 6 6
7 7 7 7 7 7 7

T OREOREMN 1 —RRELYRL. 2=1 (BE) ~2RB/N DR, 3=2(RB/N) ~3(2) DE. 4=3(2)~4(F2) DE.5=4 (F=) ~
5 (51) O, 6=5 (#]) ~6 (EE) DRI, 7=6 (EME) ~7 (Z L) DR



SMIARTRNAR[MEIL—RRKERAER 3148 ~243A

1{%(6:25) 3{8(7:05) 5{%(10:30) 7{E(12:10) 9{%(15:30)

1148(17:30)

% F 3 F 3 F % F & F %
1 |BeRe[$) 8 6 J
2 [WB/IERRET 1 355 1 9 15 2 2 384 1
KN EITES 10 799 82 41 7 8 947
4 |[FESS 6 108 216 81 23 4 438
5 |BHEE 2 4 2 8
6 [MEEMERAT 3 53 66 38 7 1 42 209 1
F< v R 7 370 66 38 3 13 497
1 |imE 93
8 [H#ED 4 1
9 |H/AREER 25
10 [ILFE 178 3
11 | EEFp It Al 7
12 [FERBEER 415 299
13 [fEHJIASE DT IR ERT 2 41
14 1FEF1RX 248 13
15 [{F HEYME B A 88 31
18 |/\ Bt CRAFETO) 5 6 133 25 6 1 3 2 5 152 34
19 [BRRETER 211 437
20 | Bk AEERAT 38| 1,715
21 [FEER AR 26
22 [{E&ARIERI 80 101
23 | P RATEFHI 34 41 75
24 [# AN LU 3 2 4 1 2 1 4 10 8
25 [FiEE 3 6 4 26 2 24 1 1 9 10 66
26 | TSHHI 924 | 1,208
57 [FUZERAT[] 823
N €
28 | % ¢ mRbeail ] 62 262 |
/Nat | 206 | 206] 2768 2767 1350 1,050 1,120 [ 519 194| 147| 462[ 456 ] 6100 ] 5145

EEF 2{%(6:45) 4{E(7:44) 6{E(11:15) 8{%E(12:50) 10{%(16:15) 12{%(18:15) INEE
Z & B3 & B3 & B3 2 B3 2 B3 % B3 %
5 5 Al 5]
57 [ ZER AT ) [
£ ERA3) 908
26 | TS5HHI
25 |HiER
24 [#EA/NEERT GLILFEREN)
23 [P R HAI
22 |{IEE£AKIEHI
21 |FEER 4R ]
20 | EEkAEERAT 304 16 706 36
19 [ERETER 5 1 231 343
18 |/\IE5 L (KA FET D) 3 4 259
17 [FEGEERD 237 10
16 | b RERE 3 8 HBRF KT 1,053
15 [ & EME BRI 1 7 8 196
14 [FF1X 5 5 379
13 [EEIASEmEESEEa | [ ] 2 3 25
12 [FER&EERT 154 74 53 20 8 5 361 212
11 [EEp LAl
10 [IUFA 3 1 18 22
9 |HAREERT 28 2 6 7 43
8 [H#ED 3 9 1 13
7 5BE 28 38 11 4 81
T~ RERK 59 4 84 201 84 4 428
6 [MEEMERAT 112 130 112 18 372
5 |BHEE 1 1 3
4 |BETH 70 122 95 30 317
3 [&n 153 69 189 149 1 560
2 B /INERLET 11 6 9 36 21 83
¢ H H H H 250 H 167 H 76 H 623
INET 1,179 [ 1,180 ] 1,031 [ 1,331 802 | 1,403 945 992 468 474 | 4425 5380
B [ 206 206] 3947] 3947] 2381 [ 2381 1922 1922 1,139 1139] 930 930 [ 10525 [ 10,525
T IUREER XA A% X A XM A O XE A% XM A XM A% X ABGH
1 1 1 1 1 1 1
2 6] 2 153] 2 12 2 4 2 2 2 226
3 1l 3 9] 3 29] 3 150 3 il 3 (1R 192
FERERATIT 4 4 9| 4 4 6] 4 4 3] 4 18
5 5 9] 5 4 5 5 5 5 13
6 6 10] 6 il 6 4 6 6 3] 6 48
7 7 7 7 7 7 7
1 1 1 1 1 1 1
2 2 2 2 6] 2 40| 2 40 2 96
3 3 3 25| 3 31 3 71 3 21 3 175
BEREITE 4 4 4 4 4 15| 4 30 4 8] 4 78
5 5 5 2 5 5 5 5 2
6 6 6 12] 6 22 6 19 6 of 6 77
7 7 7 2] 7 7 7 4
T OXBIOREN: 1 —EELJR. 2= 1 BE) ~2 (RA/M DR, 3=2 FRE/D )~3($)0)ﬁ§ 2= 3<e>~4<i_3*ﬂ)aara 5=4(F=)~

5(8) D, 6=5 (&) ~6 (E{F) DR, 7=6 (B{E) ~7 (i5L) DR



